

Find:

$$I = \lim_{n \rightarrow 0} \left(\frac{1}{n} \sum_{k=1}^n \left(\int_0^{\frac{\pi}{2}} \frac{1}{1 + \tan^k(x)} dx \right)^k \right)$$

Proposed by Khaled Abd Imouti-Damascus-Syria

Solution by Togrul Ehmedov-Azerbaijan

We know that

$$\begin{aligned} I_1 &= \int_0^{\frac{\pi}{2}} \frac{1}{1 + \tan^k(x)} dx = \int_0^{\frac{\pi}{2}} \frac{\cos^k(x)}{\sin^k(x) + \cos^k(x)} dx = \int_0^{\frac{\pi}{2}} \frac{\sin^k(x)}{\sin^k(x) + \cos^k(x)} dx \\ &= \frac{1}{2} \int_0^{\frac{\pi}{2}} \frac{\sin^k(x) + \cos^k(x)}{\sin^k(x) + \cos^k(x)} dx = \frac{1}{2} \int_0^{\frac{\pi}{2}} dx = \frac{\pi}{4} \end{aligned}$$

$$\begin{aligned} I &= \lim_{n \rightarrow 0} \left(\frac{1}{n} \sum_{k=1}^n (I_1)^k \right) = \lim_{n \rightarrow 0} \left(\frac{1}{n} \sum_{k=1}^n \left(\frac{\pi}{4} \right)^k \right) = \lim_{n \rightarrow 0} \left(\frac{1}{n} \left(\frac{\frac{\pi}{4} \left(\left(\frac{\pi}{4} \right)^n - 1 \right)}{\frac{\pi}{4} - 1} \right) \right) \\ &= \frac{\pi}{\pi - 4} \lim_{n \rightarrow 0} \left(\frac{\left(\frac{\pi}{4} \right)^n - 1}{n} \right) = \frac{\pi}{\pi - 4} \lim_{n \rightarrow 0} \left(\left(\frac{\pi}{4} \right)^n \log \left(\frac{\pi}{4} \right) \right) = \frac{\pi}{\pi - 4} \log \left(\frac{\pi}{4} \right) \end{aligned}$$